
>EN 1176
>CPSC

>CSA Z614
>ASTM F1487

 
~3

7 
3/

4"
 /

 4
7 

1/
4"

0,
96

m
 /

 1
,2

0m
 

 
~3

1 
1/

2"
0,

8m
 

0,0

Description MA Item Number Qty

Ø38x3138 mm 8065489 1
Screw, thr-forming, DIN7500D-M8x25-8.8 8008463 1

Ø60x30 mm 8005729 
(260769) 1

Ø32, 720x550 mm 32-07271 1

Ø60x30 mm 8005728 
(260768) 1

Screw, ISO10642-M8x90-8.8-FT 8008519 1

Ø18x10mm M8 8005958 1

100x100 mm 43-07105 1

620x121x21 mm 33-05371 1
Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 2

ISO4017-M10x25-8.8 8008371 2
Nut, cage M10-t=1.8-3.2 8008815 2

Ø6 16/7 x 3 mm 8035290 6

TKFT-6x40-8.8 8008651 6

800x120 mm (x2) 8103029 1 KRH KRH 2024-11-20 0

MASW624U77152
 1 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Ball Post, BM, UniMini
HAGS



7

6

5

4

3

1

1

8

2

NR. Description MA Item 
Number Qty

1 Ø38x3138 mm 8065489 1
2 Screw, thr-forming, DIN7500D-M8x25-8.8 8008463 1
3 Ø60x30 mm 8005729 

(260769) 1
4 Ø32, 720x550 mm 32-07271 1
5 Ø60x30 mm 8005728 

(260768) 1
6 Screw, ISO10642-M8x90-8.8-FT 8008519 1
7 Ø18x10mm M8 8005958 1
8 100x100 mm 43-07105 1 KRH KRH 2024-11-20 0

MASW624U77152
 2 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Ball Post, BM, UniMini
HAGS



620995

5

9 7

6

8

4

D

Ø5,5
250

STEEL POST

Max 500 rpm

10 x3

x2

WOODEN POST

1

23 x3

x2

NR. Description MA Item Number Qty
1 Ø32, 720x550 mm 32-07271 1
2 TKFT-6x40-8.8 8008651 6
3 Ø6 16/7 x 3 mm 8035290 6
4 Ø38x3138 mm 8065489 1
5 800x120 mm (x2) 8103029 1
6 620x121x21 mm 33-05371 1
7 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 2
8 Nut, cage M10-t=1.8-3.2 8008815 2
9 ISO4017-M10x25-8.8 8008371 2
10 Screw, thr-forming M6x25-8.8-(ISO7380) 8027762 6 KRH KRH 2024-11-20 0

MASW624U77152
 3 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Ball Post, BM, UniMini
HAGS



101

4x24h

S1-S3
>C20/25

>EN 1176
>CPSC

>CSA Z614
>ASTM F1487

 0
,4

m
 

 0
,4

m
 

 
15

 3
/4

"
0,

4m
 

  
0,4m x 0,4m

 0
,4

m
 

BM CC/BM

0,0 0,0

KRH KRH 2024-11-20 0

MASW624U77152
 4 ( 4)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Ball Post, BM, UniMini
HAGS


	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Detail View A (1 : 5)
	Detail View B (1 : 4)

	Sheet3
	Drawing View6
	Detail View C (1 : 5)
	Drawing View8
	Detail View D (1 : 3)
	Detail View E (1 : 3)

	Sheet4
	Drawing View11
	Drawing View12


